PG 4¢ % A 5FH Y P11-P13 % %

5 ST 6 @—401&:
(3 O K 3 €
o O O O O
C O O O O
= F EEH = = I
;
5. &
HEEWMA20EBEE - ZEHWASEBRE 2L
BB s = o
6. A
WHLIRERGRM TR 0MEE - BHaH 48
E% ! 'f‘bg@*éﬁ%éﬁ :3;40 - 125 i
7. B
BHEEEE 600 X T% =180 (&)

8. C
% 0 4F#8  25x (1200 — 800) = $10 000

@éEh rup

1 Ad 2. 0.06
3. 14 4. 7.5
5. 1.25 6. 1.3
¥, 24
142-0.7
8. 2.18
6.8+3.12

b 58 7 Ll

20797+



9. A

B8EE
B. & : 4 - 2=2
C.HR:1+1=1

D.AR:2+1=2
10. B

47 124 +048 = 5 (48)
1. D

e RKBEILREK IR LE LK - RA
ER DR IB KA TRIK -

A. 0.250.5 = 0.5

B. 0.2--0.25 = 0.8

C. 0.5+0.55 = 0.909-

D. 0.55+0.5 = 1.1

12. D
FeREAXERBREAIEIHEX -
BA :3.63 + 22

483 1 363 + 22
A X HER R 10045 » ATMERELZ
Je 44 100 4% o

13. A
T HEAAME 5064 = 2 - 4 = $63.30
14. D

IH AR C BB EA - TTEBIR o
% % T 90.8+1.5 = 60 (4)---0.8 (kg)
15. B
EEHTF 1525+ 085 =6 (/@):-0.15 (L)
Ry EEHTF7M@-
16. B
T Ak : 925 + 2.5 =37 (&)
17. A
800 g = 0.8 kg
TEMEEF 3.8+ 08 =4 (/@)-0.6 (kg)
RYEZSmEH 08 — 0.6 = 0.2 (kg)



18. (a) 21
FEEHE 15X 7 X2 =821
(b) ATBEL : 21 - 64 =3(&)$1.80
BSABEFIN3IA -
19. BPEREEEER 468 ~ 26 = $1.80
WARXT 26 548 ©



